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25% of 400 =

A.100
B.200
C.800
D.10,000

Answer: A

Explanation:
(400 x .25) = 100

22% of $900 =

A.90

B.198
C.250
D.325

Answer: B

Explanation:
(5900 x .22) = 198

Which of these numbers is a factor of 21?

A2
B.5
C.7
D.42

Answer: C

Explanation:
(Factors are numbers that can divide evenly into a certain number. 7 can divide into 21 three
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times.)
Question: 4

(9+3) x (8+4) =

Al
B.6
C.72
D.576

Answer: B

Explanation:
3)x(2)=6

Once inch equals 2.54 cm. How many centimeters tall is a 76- inch man.

A.20cm
B.29.92 cm
C.193.04 cm
D.300.04 cm

Answer: C

Explanation:
1/2.54 = 76/x; x = 2.54 (76), 193.04

What is the reciprocal of 6?

A.1/2
B.1/3
C.1/6
D.1/12

Answer: C

Explanation:

The reciprocal of a fraction is the inverse of the fraction. The fraction is turned upside down. 6
=6/1, the reciprocal is 1/6.
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A room measures 11 ft x 12 ft x 9 ft. What is the volume?

A. 1188ft>
B. 32 ft?
C.120ft
D. 1300 ft?

Answer: A

Explanation:
11 ft x 12ftx 19 1188 ft>

A roast was cooked at 325F in the oven for 4 hours. The internal temperature rose from 32°F to 145°F.
What was the average rise in temperature per hour?

A.20.2 °F/hr
B.28.25°F/hr
C.32.03°F/hr
D.37°F/hr

Answer: B

Explanation:
145°F-32°F = 113°F, 113°F +4hrs = 28.25°F/ hr

You need to purchase a textbook for school. The book cost S80.00, and the sales tax where you are
purchasing the book is 8.25%. You have $100. How much change will you receive back?

A.$5.20
B.$7.35
C.$13.40
D.$19.95

Answer: C

Explanation:
$80 x 0.825=56.60, $ 80+56.60= $86.60, $100-586.60= $13.40
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You purchase a car making a down payment of $3,000 and 6 monthly payments of $225. How much
have you paid so far for the car?

A.$3225
B.$4350
C.85375
D.$6550

Answer: B

Explanation:
$3000 + ($225(6 payments) = $4350
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